L



1 CAHAMRSTHER—E
(WBFN624E11 H4H BRISEE05E 5 A28 BB i A I3 7k ik B 408 1 B R A i o 2 ks B S < )
FA&IcH+HHFEHIE]

F3E MESMAEHR

(BAL %)

H B FR29FEE | ER30FE | S EE | ff2EE | SMm3EE

- A dE 52.44 50.26 49.02 52.73 53.46

| FE | C=—neAmiiig = 038 22.11 22.08 24.47 19.75 19.41
Y| B ARHr-UTER 8.28 13.93 6.10 5.46 2.41
i || B3 E 12.66 9.90 16.39 13.84 19.91
¥ | B | TR 1.44 1.16 1.10 3.22 2.85
Z Dt 3.07 2.67 2.92 5.00 1.96

& i 100.00 100.00 100.00 100.00 100.00

& | Ak | Koy 47.09 47.42 48.57 43.32 44.20
Z IR 53 5.65 5.27 4.70 7.37 6.26
% ARGy 47.26 47.31 46.73 49.31 49.54
1| 57 | (A S8 B E: (keal) 1,963 1,930 2,058 2,287 1,963
[EX REiEt4—] (HAL %)
H E| ER29FE | SERS0EE | SFImEE | SMm2EE | SRsEE

& AT 3R 48.52 58.19 48.66 51.34 55.50

BE | FE | = ARt = A 24.32 19.44 26.28 25.14 25.63
7N =Y W S RVVE 9.36 6.17 5.84 5.09 3.99
| M| B3 13.60 12.08 14.96 10.63 10.33
¥ | Bk | NERMER 1.33 2.44 1.36 2.80 1.21
DA 2.87 1.68 2.90 5.00 3.34

& i 100.00 100.00 100.00 100.00 100.00

W | A | Ao 52.40 51.17 49.26 44.50 48.21
2 IX 53 5.60 5665 5.43 6.04 5.60
5 RISy 42.00 43.28 45.31 49.91 46.19
1| 5 | (RN 5B E: (keal) 1,623 1,838 2,114 2,272 1,789
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[(FTEREL 22— HIH]

(BAL %)

IR E| FR29FE | ERB0FE | RFcEE | Sf2EE | SF3FE

M- A E 53.88 41.89 48.53 51.63 S5

L | & | b= ARG = E 21.18 21.75 19.13 15.58 15.12
Y| | ATV 8.39 21.53 7.13 6.77 1.63
| # | HIE 11.67 10.59 21.25 16.17 25.25
Y | Bl | NREE 1.49 0.85 0.60 2.65 1.98
ZDfh 3.39 3.39 3.36 7.20 0.45

& 3 100.00 100.00 100.00 100.00 100.00

1% | B | K5y 43.38 45.98 51.02 42.20 39.97
7 PRG35 6.15 5.25 3.93 8.77 5.43
%% ARy 50.47 48.77 45.05 49.03 54.60
B | 97 | IRALFE B (keal) 2,203 1,983 1,858 2,290 2,215
[(FERELS2— AETF] (HGL %)
H E| WR29FE | SERLB0EE | SFmEE | SM2EE | SMm3ERE

- A 54.63 50.7 49.88 55.20 49.30

B | FE | t=—n- B = ME 22.22 25.1 28.00 18.53 17.47
W |8 | RATU75E 6.05 14.1 5.33 4.52 1.60
| M| FIrE 13.07 7.0 12.95 14.73 24.15
e | Bk | NI 1.45 0.2 1.05 4.20 5.38
D 2.58 2.9 2.79 2.82 2.10

& 3 100.00 100.00 100.00 100.00 100.00

| | AR5 45.50 45.10 45.42 43.70 44.43
2 K5y 5.20 5.00 4.75 7.30 7.75
% RIBRSY 49.30 49.90 49.83 49.00 47.82
U | 5 | (AL R BE: (keal) 2,063 1,970 2,203 2,300 1,885
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2 CHOEFHB (CHMEE) DEERNDLET 57

(HeeETHESIE]
100%
90% =
80% |— ) —
70%
afk- iR
60%
at=—/L- 5/
%‘\J 50% g = L3R
(=) BE IR
40%
aR-r-U7E
30%
x NSk
20%
5 — s oxnfth,
10%
e = oo — e e B e S R I 2
0% - . * : .
24 25 26 27 28 29 30 It 2 3
i E

3 CHDO=MS (BMEL)DEENOLESSD

[(HEeETOEYIE]
100%
e
90% 7
80% ?j
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70% 7
7
é’/./"/‘ Ej‘m/\
60% 7 ?’?‘ ”
V7 7 aJks5y
£ _
: 50% _._ _. axkss
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4 FAFXLUFRERR—E

ETREHEE 5] (F AA 22 R R A S 28 5 HS< T E)

= U = N . I}
REEE HIE B P T2 L1 IR HEHEN R
5ng-TEQ/m°NEL F)| (3ng-TEQ/gPA )| (3ng-TEQ/gbAF)
W R% 29 FE| H29.12.13 0.013 0.25 0.0011
i i 30 5 EZ| H30.12.6 0.024 0.13 0.00057
T | 18 |4  E| RL12.8 0.044 0.63 0.00084
A 4 fn 2 & E| R2.10.14 0.086 0.15 0
i?;‘i 4 F 3 4 fE| R3.7.5 0.13 0.26 0.0016
+ % 294 EE| H29.8.25 0.055 0.47 0.00015
v R 304E BE| H30.7.4 0.090 0.29 0.0000024
5]7 2547 4 Fn 7t & | R1.7.8 0.094 0.58 0
4 02 & | R2.7.7 0.23 0.36 0
& 3 F E| R4.2.4 0.0030 0.27 0
(FERIELVS— HIE)
HoE M OH L M E
REEE HIE A PEH AT 2 E LK BEHIIK
(Ing-TEQ/m*NEL F)| (3ng-TEQ/gLA )| (3ng-TEQ/gLAF)
Rk 2 94 BE| H29.10.20 0.000022 0.034 0
YRk 304 | H30.10.26 0.0063 0.33 0.000067
%;r%i%%‘/ 4 0 oT £ | R1.10.29 0.015 0.085 0.000035
& fn 2 & | R2.10.27 0.00078 0.11 0.000034
4 fn 3 4 BE| R3.10.25 0.00054 0.11 0.000042
(FTERERY— I
e U = = !
REFE illcgs| HEH AT A L AR BEHIIK
(5ng-TEQ/m*NEL )| Bng-TEQ/gLA T)| (3ng-TEQ/gbh T)
SRR 294 FE[ H29.9.26 0.0005 0.018 0.0002
WRk 304 | H30.10.25 0.00022 0.13 0.0038
%LF%%%IE; & 7T 4 E| R1.10.28 0.050 0.19 0.0044
4 fn 2 4 | R2.10.28 0.011 0.16 0.0059
& f0 3 4 | R3.10.26 0.00049 0.21 0.0040
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5 RIRE-AJVJRERE—E (SMIER)
(1) KRFBLAE

- S B . FHIE
HEEE A Hh A ReffIRRME| B 8ME EEE | 0 EhE
B 0.014 0.009
BEBRERT ey 0.011 0.006
CEMLER 2 TH 0.013 [% 0.1~0.2 259/‘%:9/'?
(ppm) 2 0.017 0.008 LLF L NLIT
BB A & 0.034 0.011
2L 0.026 3%
[ ENE 222815 B IEBE D B Rl
== = = —_ B AE
RIEEHE S B Rl RME| HSEHE EEE | DUEE
5 0.002 0.001
. B=RERT & 0.001 0.000
ZER{bHR =LY 0.002 [ . .
(ppm) 2 0.001 0.000 O.LEAF | 0.04BLF
BE R A S 0.002 0.000
221 0.002 |3%
(3% EN32ZR2307 2 B o & il
—_—— = = —yr SF{E
-1 0.025 0.013
BRERT 3 0.005 0.002
FIERL T IRYE 22 LYY 0.015 [3% . .
(mg/m") E 0.024 Gop| O2HT | OLELT
BB AT Z3 0.009 0.003
22 0.017 [3%
[ ENE2Z=IZ81T 5 B FEHE O KAl
RIEEHE TR (B EEZSTE A AE
5 < 0.002
E=RERT 3 < 0.002
AR 223y | < 0.002 .
(ppm) B < 0.002 0.0254F
SN an Z3 < 0.002
2ZH | < 0.002
B ETE B A A (3] IRl 7E I ST
= 0.011
E=RBAT 23 0.011
B AT X HE 2L 0.011 0.6LLTF
(pe-TEQ/m®) E 0.0087 | (FFF5{E)
I8 BNt S 0.012
271 0.010
O FZjifi 01 5 : AfM34E7TH13E~7H20H
X . SGF4E1A128~1H19R
Ol < )i, B TIREAR R
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(2) &

L
%{l

HE

(3) RBERE

(4) ERHFAE

I L ~UL(dB) .
H#Fﬁﬁ lz]U ﬁf?é\é\%ﬁ Ii}pa‘j%zﬁ i‘Ef’ﬁU%@
=41 11:00~19:00] 66~68 | 50~57 | 55(50)
A 19:00~22:00] 64~67 | 51~54 | 50(45)
7R ] 22:00~06:00] 48~62 | 45~53 | 45(40)
& 06:00~08:00] 66~69 | 50~54 | 50(45)
B [H 08:00~11:00] 67~69 | 52~57 | 55(50)
O Zfiii H 415133 ~14H
OB S HRHIEFESRIEIHE
OMMIEELERT, BEFRBIEICESCE BRI E#E F7-
Falid, 50mELNIZFER RS 579 5dBHE L 7~ B
\ i) ~</L(dB) 5
H#ﬁiﬁ IZ:% {L}{:I\EJH% I%Eﬁ fﬁﬁﬁ”%f@
BH 11:00~19:00 32~43] 26~38] 60(55)
b 19:00~08:00| < 25~42]| < 25~33|  55(50)
B 08:00~11:00] 35~43| 33~37[ 60(55)
Ol B ST4E1HA 138 ~14H

OREAHIIEFHSFITEIHIE
Ol < i, B FRRIERT
O EYEITIRENRFNEIC R SCE XKoo B4

Z1vaiE, 50mLAPIZER 13 $H 572 5dBIB U1~ B

i AR (ppm) R
XRER L AT HH E e

FE=T 0.09 [<0.05 —
AF VAT T H < 0.001 [<0.001 —
bk & < 0.001 [<0.001 —
b ATF L < 0.001 [<0.001 —
— R b ATV < 0.001 [<0.001 —
N AF LTI < 0.001 ]<0.001 —
TE T IVFER 0.009 0.008 —
Tut At T ITER < 0.002 |[<0.002 —
SV T F LT IVTER [<0.002 [<0.002 -
AV TF LT IVFER < 0.002 |[<0.002 —
=)L )L T LT ER (< 0.002 < 0.002 —
AN VT IVFER < 0.002 [<0.002 —
AT H)—)v < 0.01 < 0.01 —
BT F )L <0.01 [<0.01 —
AFNAI T F Ak <0.01 [<o0.01 —
=% <0.01 ]<0.01 -
AFL <0.01 [<0.01 —
e <0.01 [<0.01 —
VAR < 0.0002 |< 0.0002 —
IV VR ER < 0.0002 [< 0.0002 —
V)V E B < 0.0002 [< 0.0002 —
AV EERE < 0.0002 [< 0.0002 —
BRIEEGERE) < 10(<10)]  14(25) 15(30)
O£l B SFI3ETHA19H

OT<Ji, R H T IRE A
OB RRH I EE 74 E-SIE
ORRHI FHET, BRE IFEICESCARIR O FELE
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6 HHRAAEHER—E(HMIEE)

(BER524F 11 A4 0 BREEHT96 75 [ AR BRIGEART A J) /A U B A58 510 B 450 8 (i A o o 2 - S < )

W oE H B & HOH A
RIESET| MEH XV CA M b ERMRY HAbIK R
0.15/m’NEAF¥@|51.36m’N/hpA F3¢@|  180ppmEA T 200mg/m°NEL T
R 3.5.12 0.001 0.024 73 4.8
EtHR IR 3.7.5 < 0.002 0.014 64 5.4
154% |R 3.9.7 < 0.002 0.021 72 6.1
R 3.11. 8 0.001 0.015 80 4.5
BETR |[R 3.12.24 < 0.002 < 0.008 93 1.4
25 IR 4. 2. 4 < 0.002 < 0.006 86 2.5
R 3.5.24 < 0.002 <0.03 78 21
R 3.7.14 < 0.002 0.03 62 31
g&%% R 3. 8.27 < 0.003 0.03 65 18
R 3.11.25 < 0.002 0.04 68 22
R 4.1.14 < 0.003 <0.03 96 25
R 3.5.10 < 0.002 < 0.03 84 13
R 3. 8.20 < 0.002 0.04 61 14
gﬁf%_ R 3. 9.17 < 0.002 . 0.03 81 5
R 3 11.30 < 0.002 <0.03 59 7
R 4.1.24 < 0.002 <0.03 94 9

S OFEER 27— W LB O BIHINTO0. 08
KOFERE L ¥ —HTHORBIEIL62. 49, P8 L1166, 32
XI< i, B H T BRI A
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7 BHRPOKBEREMNEHER K (FHNIEE)

(AT pe/Nnd)

jooE 1w oH & B i
REHH| WER 2KER HARAKER | Fr-IRAKER
50LL T — =
=1-H [R3.5.12 0.4 0.4 0.006
15JF [R3.9.7 0.2 0.2 0.006
LR [R312.04 0.2 0.2 0.007
o B 12. . . .
#HEE |R3.7.14 3.3 3.3 (0.0008)
W14 [R3.11.25 14 14 0.011
R3.5.10 1.0 1.0 0.0018
gﬁl%g R3.9.17 0.84 0.84 < 0.0001
R4.1.24 0.71 0.71 0.0018

KR - I RIROKGRERL TR O A FT

A ARAKER - PEH AT AU RIE L L TIRAE T DK KR O DG DF

N
)

KRLFIRKER - PEH VAP DZZAMIE EN LK R NE DL E W ORTR

PR

KIREEILOC, 101, 32kPalZRBiTAMETHY, FEIMTOEMEIL, B FRRU LER TRAM CTHH L2 RT,

8 BMNKEHHABRBER R (FMIEE) ;
(HEFI484F2 A 1T H MREFRHS S 2R FE B UEERREN RO EEEL TDHE M ESRE)

(ELRBE+—185F) (HAE me/0)
NEE B SHRHE

% H TN KER [FRIvAl 8 | B Amoes] HE | 7V PCB RNZaa|7r77oal1,1,1-k) g
oo (bE{bam [{bam ke | {Law | (ke | (LaY TFLU|TF L ooy

wieanoze] 0.0050AF)0.09L0 FI0.3LA T 1LATF |1.5EAF|0.3LLTF| 1L 10.00380F|0.3LATF|0.18LF| 3LATF |0.3LAF

R 3. 4.12| 7FfHi|< 0.0005|< 0.01 [ 0.02 |< 0.1 [< 0.04 [< 0.01 |< 0.1 [< 0.0005[< 0.01 |< 0.01 [< 0.01 |< 0.01

R 3. 5.12| FMH[< 0.0005[< 0.01] 0.02 [< 0.1 [< 0.04 [< 0.01 [< 0.1 [< 0.0005 < 0.01 |< 0.01 |< 0.01 [< 0.01

R 3. 6.14| 7#H[< 0.0005 < 0.01 |< 0.02 |< 0.1 [< 0.04 [< 0.01 |< 0.1 [< 0.0005|< 0.01 |[< 0.01 [< 0.01 |[€ 0.01

R 3. 7. 5| FfH[< 00005]|< 0.01 |[< 0.02 [< 0.1 [< 0.04 [< 0.01 [< 0.1 [< 0.0005 < 0.01 |[< 0.01 |< 0.01 [< 0.01

R 3. 8. 3| “AKH|< 0.0005]< 0.01 |< 0.02 |< 0.1 [< 0.04 |[< 0.01 [< 0.1 |< 0.0005[< 0.01 |[< 0.01 |< 0.01 |< 0.01

R 3. 9. 7] ZF#H]< 0.0005[< 0,01 |< 0.02 |[< 0.1 |€ 0.04 < 0.01 [< 0.1 [< 0.0005|< 0.01 | 0.01 |< 0.01 |< 0.01

R 3.10.11] &M< 0.0005 |< 0.01 [< 0.02 [< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005]< 0.01 |< 0.01 |< 0.01 [< 0.01

R 3.11. 8| “Hi|< 0.0005|< 0.01 [< 0.02 [< 0.1 [< 0.04 |< 0.01 [< 0.1 |< 0.0005[< 0.01 [< 0.01 |< 0.01 |< 0.01

(ELREE L 4—251F] (BAL mg/4)

HEEE EMHIE

e E T KER |mRIoal 8y | A smoos] E |7 PCB Nzaa|7ts7aa]1,1,1-F) .
asaiaan? Kider 7l Kleess ) Rl aax A Kl A Rlaax 7] Kla=x /| Klo=x2: B AV E-L S PEEED2

fnrnsece | 0.006BAF 0.0 LA F|0.3LA T | 1BAT |LSLATF[0.3LAT| 1LAT 0.00384TF|0.3LLF[0.1AT| 3LATF |0.3LL°F

R 3.12.24| 7#H[< 0.0005 [< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [< 0.1 |< 0.0005 < 0.01 |< 0.01 |[< 0.01 [< 0.01

R 4. 1. 5] A< 0.0005[< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [< 0.1 |< 0.0005[< 0.01 |< 0.01 |[< 0.01 [< 0.01

R 4. 2. 4| F#HHH|< 0.0005 < 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [< 0.1 |< 0.0005 < 0.01 |< 0.01 |< 0.01 |< 0.01

R 4. 3 3| F|< 00005 (< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [< 0.1 |< 0.0005 < 0.01 |< 0.01 |[< 0.01 |< 0.01

[ < b, R H T BRAE A i
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(FEREtE Y—RIE) (AL mg/1)

I TE H L HE
Sl TN KER |HRIval gn | AHEE | ~moen] 1FE |7V Fzaa|Fzsaal1,1,1-8) .
WER s om| am| wam| kam| wam| am| am| P8 |zriu|mg i |pmas| B

a2 0,005 AT 0.09LA T 0.3LAT| 1TEAT [1L5EAT(0.38L | 1EAT 000384 F|0.3LAF|0.1LAF| 3LATF [0.3L4F

3. b.10f A< 0.0005 [< 0.005 (< 0.01 [< 0.1 |< 0.05 [< 0.005|< 0.1 [< 0.0005|< 0.003 < 0.001 [< 0.03 |< 0.002

3. 5.24] “HH[< 0.0005 [< 0.005 (< 0.01 [< 0.1 |< 0.05 [< 0.005|< 0.1 [< 0.0005|< 0.003 [< 0.001 [< 0.03 |< 0.002

3. 6.17| -] 0.0005 < 0.005 [< 0.01 [< 0.1 [< 0.05 < 0.005|< 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 [< 0.002

3. 7.14] “tH]< 0.0005 < 0.005 [< 0.01 [< 0.1 [< 0.05 < 0.005|< 0.1 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002

3. 8.16] 7mH|< 0.0005 [< 0.005]< 0.01 |< 0.1 |< 0.05 [< 0.005|< 0.1 |< 0.0005 |< 0.003 |< 0.001 |< 0.03 |< 0.002

3. 8.27[ AMH< 0.0005|< 0.005| 0.02 [< 0.1 [< 0.05 [< 0.005 < 0.1 [< 0.0005 < 0.003 |< 0.001 |< 0.03 [< 0.002

.10 . 15[ “&M|< 0.0005 [ < 0.005 [< 0.01 [< 0.1 [< 0.05 |< 0.005|< 0.1 [< 0.0005|< 0.003 [< 0.001 [< 0.03 0.003

3 .11 .25] A#Ht|< 0.0005 [< 0.005 |< 0.01 [< 0.1 |< 0.05 [< 0.005 (< 0.1 |< 0.0005[< 0.003 |< 0.001 |< 0.03 [< 0.002

3 .12 .10 7m[< 0.0005 [< 0.005 [< 0.01 |< 0.1 |< 0.05 |< 0.005|< 0.1 |< 0.0005 |< 0.003 |< 0.001 |< 0.03 |< 0.002

4., 1.14] Z#HH[< 0.0005 |< 0.005 [< 0.01 |< 0.1 [< 0.05 |< 0.005 < 0.1 [< 0.0005]< 0.003 |[< 0.001 [< 0.03 |< 0.002

4. 2.25| FH< 0.0005 < 0.005 [< 0.01 |< 0.1 [< 0.05 < 0.005|< 0.1 [< 0.0005]< 0.003 [< 0.001 [< 0.03 |< 0.002

=o il v B - B IR~ v A I~ vl = v ~v I I~ v v I~ vl -~ v B ~v]
o

4. 3.18 k< 0.0005 |< 0.005 [< 0.01 |< 0.1 [< 0.05 |< 0.005|< 0.1 [< 0.0005]< 0.003 [< 0.001 [< 0.03 |< 0.002

(HEES > 5— T TH) (AL me/)
BETE B AR

Sl TAEN JKER [ARIVAl Bn | AR | Amoes ME | TV NZaalF7an[1,1,1-R) .

WER | an| o | eom| om | am| kam| wom|tam| P | eri o] B

wtizavens10.00580 F)10.09LA FI0.3LAT| 1LATT |1.BEAT|0.3LA | 1EAT 10.00384F|0.3LAT|0.1ELTF| 3LAF [0.3L4F

3. 4.23] AFEH|< 0.0005 [< 0.005 [< 0.01 [< 0.1 [< 0.05 [< 0.005 (< 0.1 [< 0.0005 < 0.003 [< 0.001 [< 0.03 |< 0.002

3. 5.10 i< 0.0005 < 0.005 | 0.06 |< 0.1 [< 0.05 < 0.005|< 0.1 [< 0.0005]< 0.003 [< 0.001 [< 0.03 [< 0.002

3. 6.17 i< 0.0005 |< 0.005 [< 0.01 |< 0.1 [< 0.05 [< 0.005]< 0.1 [< 0.0005]< 0.003 [< 0.001 [< 0.03 |[< 0.002

3. 8.16] HH|< 0.0005 [< 0.005 [< 0.01 [< 0.1 |< 0.05 [< 0.005[< 0.1 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 |< 0.002

3. 8.27 A< 0.0005 [< 0.005 [< 0.01 |< 0.1 [< 0.05 |< 0.005[< 0.1 |< 0.0005[< 0.003 [< 0.001 |< 0.03 |< 0.002

3. 9.17 A< 0.0005 [< 0.005 [< 0.01 |< 0.1 [< 0.05 < 0.005[< 0.1 [< 0.0005[< 0.003 [< 0.001 |[< 0.03 |< 0.002

.10 . 15| ARih|< 0.0005 < 0.005 | 0.25 |< 0.1 [< 0.05 [< 0.005 (< 0.1 |< 0.0005 [< 0.003 [< 0.001 < 0.03 |< 0.002

3.11.30] F#< 0.0005 |< 0.005

N

0.01 |< 0.1 |< 0.05 |< 0.005 |< 0.1 |< 0.0006 |< 0.003 |< 0.001 |< 0.03 [< 0.002

3 .12 .10 “#]< 0.0005 |< 0.005 [< 0.01 [< 0.1 |< 0.05 < 0.005[< 0.1 |< 0.0005 < 0.003 [< 0.001 |[< 0.03 | 0.002

4. 1.24| FH|< 0.0005[< 0.005|< 0.01 [< 0.1 |< 0.05 |< 0.005 [< 0.1 |< 0.0005 [< 0.003 [< 0.001 |< 0.03 |< 0.002

4. 2.25| i< 0.0005 [< 0.005|< 0.01 [< 0.1 |< 0.05 < 0.005 < 0.1 |< 0.0005 [< 0.003 [< 0.001 |[< 0.03 |< 0.002

Tl | A | I || A" | I |m|=mZ|=W| D=
w

4. 3 .25 i< 0.0005 < 0.005|< 0.01 [< 0.1 |< 0.05 |< 0.005 < 0.1 |< 0.0005 < 0.003 [< 0.001 |[< 0.03 |< 0.002

ST < 11, FRH T BRIE AR T
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9 KENBHHRER R (THIEE)
(BBFN484F2 A 1TR MEF TS 5 &R %L 3 D REIMICIR DY ERIER B 58 FIZHESE)

(EXRERBtE2—154F)

W oE H B EKRH M
RE R KEIBLEW |o3vabatn safbAl  [Sirnaiean| MFE LAWY R O A
0.005mg/2LA | 0.09mg/@LLTF | 0.3mg/CLLT | 1.5mg/fLLTF | 0.3mg/4LLT | 0.3mg/4LLTF | 0.5mg/2LLTF
R 3. 7. 5] <0.0005 < 0.01 <0.02 < 0.04 <0.01 0.01 <0.05
R 3.11. 8 0.0016 <0.01 <0.02 < 0.04 <0.01 0.02 <0.05
X< T H T RRE A
(EXRBRE+2—281F)
Bl F H B & KR A
NER | KELEW [pr3vaean| sabad |[~froskan| BHELAY Ly L4V
0.005mg/ LA F| 0.09mg/QEAF | 0.3mg/2LAT | 1.5mg/fLLT | 0.3mg/fLAT | 0.3mg/eLL T 0.5mg/LLLT
R 3.12 .24 < 0.0005 < 0.01 <0.02 < 0.04 <0.01 < 0.01 < 0.05
R 4. 2. 4] <0.0005 < 0.01 <0.02 < 0.04 <0.01 < 0.01 <0.05
X< T BRAAA
(TEREE4—KRIiE)
= = I < A 1
AIER | ARBR(EEY [PE0ean] sMbat [ ~iizosean| —ELED LY [L4-UdRy
0.005mg/LLAT| 0.09mg/2LA T | 0.3mg/2LAT | 1.5mg/fLATF | 0.3mg/20LAF | 0.3mg/iLLTF 0.5mg/LLAF
R 3. 5.24 0.0010 < 0.005 <0.01 < 0.05 < 0.005 0.005 < 0.005
R 3. 8.16[ <0.0005 < 0.005 <0.01 0.06 < 0.005 0.004 < 0.005
R 3.11.25[ <0.0005 < 0.005 <0.01 < 0.05 < 0.005 0.004 < 0.005
R 4. 2.25] <0.0005 < 0.005 <0.01 < 0.05 < 0.005 < 0.002 < 0.005
X< JTARH T BRE R
(FTEREtE 4 —ETIR)
WoE W B LB G M
H7E H KEALEW [Pyt LEW | AEroseen| fERLEY Ly |1 4-DFFg
0.005mg/2LLT| 0.09mg/LLF | 0.3mg/ZLAF | 1.5mg/fLLF | 0.3meg/fLLF | 0.3mg/2LATF | 0.5mg/fLLTF
R 3. 5.10] <0.0005 < 0.005 <0.01 < 0.05 < 0.005 0.007 0.039
R 3. 8.27] <0.0005 < 0.005 <0.01 < 0.05 < 0.005 0.003 < 0.005
R 3.11.30[ <0.0005 < 0.005 <0.01 < 0,05 < 0.005 0.003 0.015
R 4. 2.25] <0.0005 < 0.005 < 0.01 <0.05 < 0.005 0.003 < 0.005
X< TR H T RRAE AR

10 RERXGEFHHAKKERERRE —E(SHN3ER)
(FAGEIER 125D 212 Z5<HIE)

BREA FEORKFR
R 3. 6.23 BE
R 3.9.17 HE
R 3.12.14 BE
R 4.3.2 ke
XAOWIXE LR FAGHER
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